

$$A) y = \sqrt{x+3} + 3x$$

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	0	0	1	1,43	2	2,73	4,44	6,64	

$$y = \sqrt{(-4+3)} + 3(-4) = 0$$

$$y = \sqrt{(-3+3)} + 3(-3) = 0$$

$$y = \sqrt{(-2+3)} + 3(-2) = 1$$

$$y = \sqrt{(-1+3)} + 3(-1) = 1,43$$

$$y = \sqrt{(0+3)} + 3(0) = 1,73$$

$$y = \sqrt{(1+3)} + 3(1) = 2$$

$$y = \sqrt{(2+3)} + 3(2) = 2,73$$

$$y = \sqrt{(3+3)} + 3(3) = 4,44$$

$$y = \sqrt{(4+3)} + 3(4) = 6,64$$

$$B) y = 5x - 3$$

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	-23	-18	-13	-8	-3	2	7	12	17

$$y = (-20 - 3) = -23$$

$$y = (-15 - 3) = -18$$

$$y = (-10 - 3) = -13$$

$$y = (-5 - 3) = -8$$

$$y = (0 - 3) = -3$$

$$y = (5 - 3) = 2$$

$$y = (10 - 3) = 7$$

$$y = (15 - 3) = 12$$

$$y = (20 - 3) = 17$$

$$C) y = 3x^2 - 8$$

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	152	84	44	14			28	73	136

~~g)~~

$$D) y = (x^2 - 1)(x + 1)$$

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	5,6	5	5	0	-1	0	1	2	3

2.- Dada las funciones F y G tales que hallar
 $f(x) = 3x^2$ y $g(x) = x^2 + 4$, hallar $(f+g)$ y $(f-g)$

$$f(x) = 3x^2$$

$$g(x) = x^2 + 4$$

$$f(x) + g(x)$$

$$f(x) + g(x) = (3x^2 - 2) + (3x^2 + 4, 5) = (x) + g(x) x^2 + 5x + 2$$

$$f(x) - g(x)$$

$$f(x) = 2x - 5$$

$$f + g(x)$$

$$f(x) + g(x) = (2x - 3) + (4x^2 - 2x)$$

$$8x^3 + 3 + 1x^2 - 12x^2 - 3x$$

$$= 8x^3 - 10x^2 - 3x$$

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	-44	4	-8	-5	-2	1	4	7	10

Domínio (x)	-4	-3	-2	-1	0	1	2	3	4
Rango (y)	-1	-5	0	3	4	5	8	13	20

3.- Resuelve de manera clara

A) dada $F(x) = x^3 - 7x^2 - 6x + 42$ demostreal que
 $F(7) = 0$ y $F(1) = 30$

$$F'(x) = 0$$

$$F(1) = 1^3 - 7(1)^2 - 6(1) + 42 = 30$$

$$F(7) = 7^3 - 7(7)^2 - 6(7) + 42$$

$$343 - 343 - 42 + 42 = 0$$

C) Sean f y g las funciones

$$f = \{(1, 1), (2, 5), (5, 8), (7, -2)\}$$

$$g = \{(2, 5), (1, 3), (5, 1), (6, 18), (7, 13)\}$$

Encuentra $(f \circ g)$ y $(g \circ f)$

$$D_f = \{1, 2, 5, 7\}$$

$$D_g = \{2, 1, 5, 6, 7\}$$

$$\begin{aligned} Dg + Df &= \{3, -1, 10, 13, 7\} & Rf &= (4, 5, 8, -22) \\ Sf &= \{6, 2, 4, 16, 13\} & Rg &= (2, -3, 1, 10, 13) \end{aligned}$$

$$146 = (3, 6) (-1, 2) (10, 4) (13, 16) (7, 13)$$

$$\begin{aligned} Df &= \{1, -2, 5, 7\} & Rf &= (4, 5, 8, -7) \\ Dg &= \{2, 1, 5, 6, 7\} & Rg &= (-2, -3, 1, 18) \end{aligned}$$

$$\begin{aligned} Df &= \{2, -2, 15, 42, 7\} \\ Rf &= \{8, 15, 5, -36, 13\} \\ Rg &= \{(2, 8), (-2, -15), (15, 8), (42, -36), (7, 13)\} \end{aligned}$$